~ - | Distributore rotante 13 vie ltem code
BHES Swivel joint 13 ways D100130300

'y
W
l \ 1
I
* l
I
\ I
: ¥
* I
n <
Q_ : g | A @ 8 m
</ i ] ! m N 7 @
l,: ! n | " :' [ ©, 5 |
N A ' N ! ) @ 4
o~ g L | Nl 3 @
[a2) y | 0
(V]
e | Bk ©
| n | N — \
ol | <N
o | | v~ g_ @
—| N ¢
v 200 I NI
IR B IR Bk L Y I Y VY YV Y™y )
[
©_ 1 N
(o))
N @@' :©© of @f@ ~ @
1 [ = EE Ty 8* i L i R R
T TM25x1.5 D131
Pressione max .
Statore Rotore a 12RPM (bar) Fluido
Stator Rotor l\tll?)éé);::s(gre) Fluid
a Ely
STATOR ROTOR 1 M18x1.5 M18x1.5 Hydraulic Oil
2 M18x1.5 M18x1.5 10 350 Hydraulic Oil
1 S 1 3 M20x1.5 M20x1.5 14 30 Drain
% § 4 M14x1.5 M14x1.5 10 350 Hydraulic Oil
2 // \\ 2 5 M14x1.5 M14x1.5 10 350 Hydraulic Oil
5 / 5 6 M14x1.5 M14x1.5 10 350 Hydraulic Oil
7 6 7 M14x1.5 M14x1.5 10 350 Hydraulic Oil
8 \\ 8 8 M14x1.5 M14x1.5 10 350 Hydraulic Oil
190 1\ / 190 9 M20x1.5 M20x1.5 14 350 Hydraulic Oil
11 —\ /14 10 M20x1.5 M20x1.5 14 350 Hydraulic Oil
12 12 CONNESSIONE 11 M14x1.5 M14x1.5 10 350 Hydraulic Oil
13 13 § :t::::‘; 12 M33x2 M33x2 22 350 Hydraulic Oil
OK | CONNECTION 13 M33x2 M33x2 22 350 Hydraulic Oil




